
independent SERVICE CENTRE

AIRCRAFT ENGINES

RTX

 

EP

AV

CS

IN

EL

AV

TO

PS

BV

24 1-800-247-9653  •  225 Airport Circle, Corona, CA Prices Subject to Change Without Notice

Item
No. Part No Description Qty.

Req. Price

1 811-460 OIL PUMP HOUSING 1 $666.60
2 856-330 REGULATING PISTON 1 $18.42
3 838-125 COMPRESSION SPRING DM 8.85 D1.25 L52 1 $3.43
4 640-850 PLUG SCREW M22x1.5 1 $38.22
5 430-622 SEALING RING A 16x22 2 $2.50
6 240-234 PLUG SCREW A M16x1.5 1 $10.79
7 956-651 ADAPTER 3/4-16 UNF/ M16x1.5 (3) $90.35
7 956-655 ADAPTER M18x1.5 / M16x1.5 1 $59.72
8 924-430 OIL FILTER NIPPLE 1 CALL
9 825-016 OIL FILTER 1 $19.95

10 830-372 O-RING 63-2.5 2 $3.50
11 430-102 OIL SEAL A 14x22x4 FPM 1 $10.36
12 837-295 OIL PUMP SHAFT 1 $239.06
13 246-580 KEY A 4x4x8 1 $1.78
14 888-821 PRESSURE INNER AND OUTER ROTOR 1 $78.82
15 812-192 OIL PUMP HOUSING 1 CALL
16 232-731 NEEDLE PIN 4x15.8 G3 1 $1.68
17 656-850 ROTOR SET 1 $133.64

Item
No. Part No Description Qty.

Req. Price

18 911-713 OIL PUMP COVER 1 $80.15
19 250-460 O-RING 11-2.7 2 $5.93
20 950-410 O-RING 30x2.5 1 $12.98
21 827-961 WASHER 6.4 4 $0.31
22 241-261 ALLEN SCREW M6x65 4 $1.45
23 824-020 MALE STUD ELBOW M10x1 1 CALL
24 656-760 TURBO OIL SUCTION LINE 1 CALL
25 656-765 TURBO PRESSURE OIL LINE 1 CALL
26 230-150 SEALING RING A 10x14 3 $1.09
27 940-873 BANJO BOLT M10x1x30 1 $16.26
28 851-111 CABLE CLAMP 8/M5 3 $12.46
29 851-116 CABLE CLAMP 5/M5 2 $13.27
30 241-841 ALLEN SCREW M5x12 2 $0.69
31 942-020 LOCK NUT M5 3 $1.17
32 847-664 SPACER 5.2/11/6.0 1 CALL
33 941-540 ALLEN SCREW M5x20 1 CALL
34 956-314 HOSE NIPPLE 4/6 1 $23.81
35 940-874 BANJO BOLT M10x1x19 1 $13.99

OIL PUMP ASSEMBLY, OIL FILTER, OIL TEMPERATURE SENSOR, OIL PRESSURE SENSOR

OIL TANK
Item
No. Part No Description Qty.

Req. Part No
1-12 656-854 OIL TANK ASSEMBLY UNF BIG (1) CALL
1-12 656-852 OIL TANK ASSEMBLY UNF standard (1) CALL
1-12 656-880 OIL TANK ASSEMBLY METRIC standard 1 CALL
1-12 656-XXX OIL TANK ASSEMBLY METRIC BIG (1) CALL

1 956-426 OIL TANK standard (1) CALL
1 956-427 OIL TANK BIG - NON-CERTIFIED 1 CALL
2 250-010 GASKET RING C 12x18 1 $1.71
3 241-408 HEX. SCREW M12x12 1 $43.71
4 656-861 PARTITION 2 1 $33.32
5 956-204 BAFFLE INSERT standard 1 $67.19
5 956-205 BAFFLE INSERT BIG 1 CALL
6 850-491 O-RING 145x6-N, HNBR 70 1 $31.55
7 656-882 OIL TANK COVER ASSEMBLY UNF standard (1) CALL
7 656-887 OIL TANK COVER ASSEMBLY METRIC standard (1) CALL
7 656-858 OIL TANK COVER ASSEMBLY UNF BIG (1) CALL
8 951-817 PROFILE CLAMP 163 1 $72.58
9 230-150 SEALING RING A 10x14 1 $1.09

10 641-733 PLUG SCREW M10x1 1 $10.70
11 956-154 OIL DIPSTICK 1 CALL
12 974-647 OIL TANK COVER, WITHOUT VENTING standard tank (1) $32.15
12 974-650 OIL TANK COVER, WITHOUT VENTING BIG tank (1) CALL
13 297-555 SAFETY WIRE 0.8 1 CALL
14 956-610 HOSE NIPPLE WITH UNION NUT - NON-CERTIFIED AR $20.91
15 956-580 BENT SOCKET - NON-CERTIFIED AR CALL
16 853-725 CLAMP SP 17/9 - NON-CERTIFIED AR CALL
17 956-390 OIL TUBE OLNS - NON-CERTIFIED AR $85.86 

915 iS ENGINE

https://www.cps-parts.com/catalog/pnpages/800-247.php
https://www.cps-parts.com/catalog/pnpages/856-330.php
https://www.cps-parts.com/catalog/pnpages/838-125.php
https://www.cps-parts.com/catalog/pnpages/640-850.php
https://www.cps-parts.com/catalog/pnpages/430-622.php
https://www.cps-parts.com/catalog/pnpages/240-234.php
https://www.cps-parts.com/catalog/pnpages/956-651.php
https://www.cps-parts.com/catalog/pnpages/956-655.php
https://www.cps-parts.com/catalog/pnpages/924-430.php
https://www.cps-parts.com/catalog/pnpages/825-016.php
https://www.cps-parts.com/catalog/pnpages/830-372.php
https://www.cps-parts.com/catalog/pnpages/63-2.php
https://www.cps-parts.com/catalog/pnpages/430-102.php
https://www.cps-parts.com/catalog/pnpages/837-295.php
https://www.cps-parts.com/catalog/pnpages/246-580.php
https://www.cps-parts.com/catalog/pnpages/888-821.php
https://www.cps-parts.com/catalog/pnpages/812-192.php
https://www.cps-parts.com/catalog/pnpages/232-731.php
https://www.cps-parts.com/catalog/pnpages/656-850.php
https://www.cps-parts.com/catalog/pnpages/911-713.php
https://www.cps-parts.com/catalog/pnpages/250-460.php
https://www.cps-parts.com/catalog/pnpages/11-2.php
https://www.cps-parts.com/catalog/pnpages/950-410.php
https://www.cps-parts.com/catalog/pnpages/827-961.php
https://www.cps-parts.com/catalog/pnpages/241-261.php
https://www.cps-parts.com/catalog/pnpages/824-020.php
https://www.cps-parts.com/catalog/pnpages/656-760.php
https://www.cps-parts.com/catalog/pnpages/656-765.php
https://www.cps-parts.com/catalog/pnpages/230-150.php
https://www.cps-parts.com/catalog/pnpages/940-873.php
https://www.cps-parts.com/catalog/pnpages/851-111.php
https://www.cps-parts.com/catalog/pnpages/851-116.php
https://www.cps-parts.com/catalog/pnpages/241-841.php
https://www.cps-parts.com/catalog/pnpages/942-020.php
https://www.cps-parts.com/catalog/pnpages/847-664.php
https://www.cps-parts.com/catalog/pnpages/941-540.php
https://www.cps-parts.com/catalog/pnpages/956-314.php
https://www.cps-parts.com/catalog/pnpages/940-874.php
https://www.cps-parts.com/catalog/pnpages/656-854.php
https://www.cps-parts.com/catalog/pnpages/656-852.php
https://www.cps-parts.com/catalog/pnpages/656-880.php
https://www.cps-parts.com/catalog/pnpages/956-426.php
https://www.cps-parts.com/catalog/pnpages/956-427.php
https://www.cps-parts.com/catalog/pnpages/250-010.php
https://www.cps-parts.com/catalog/pnpages/241-408.php
https://www.cps-parts.com/catalog/pnpages/656-861.php
https://www.cps-parts.com/catalog/pnpages/956-204.php
https://www.cps-parts.com/catalog/pnpages/956-205.php
https://www.cps-parts.com/catalog/pnpages/850-491.php
https://www.cps-parts.com/catalog/pnpages/656-882.php
https://www.cps-parts.com/catalog/pnpages/656-887.php
https://www.cps-parts.com/catalog/pnpages/656-858.php
https://www.cps-parts.com/catalog/pnpages/951-817.php
https://www.cps-parts.com/catalog/pnpages/230-150.php
https://www.cps-parts.com/catalog/pnpages/641-733.php
https://www.cps-parts.com/catalog/pnpages/956-154.php
https://www.cps-parts.com/catalog/pnpages/974-647.php
https://www.cps-parts.com/catalog/pnpages/974-650.php
https://www.cps-parts.com/catalog/pnpages/297-555.php
https://www.cps-parts.com/catalog/pnpages/956-610.php
https://www.cps-parts.com/catalog/pnpages/956-580.php
https://www.cps-parts.com/catalog/pnpages/853-725.php
https://www.cps-parts.com/catalog/pnpages/956-390.php
https://www.cps-parts.com/catalog/pnpages/956-390.php
https://www.cps-parts.com/catalog/pnpages/951-817.php
https://www.cps-parts.com/catalog/pnpages/656-861.php
https://www.cps-parts.com/catalog/pnpages/956-610.php
https://www.cps-parts.com/catalog/pnpages/250-010.php
https://www.cps-parts.com/catalog/pnpages/641-733.php
https://www.cps-parts.com/catalog/pnpages/641-733.php
https://www.cps-parts.com/catalog/pnpages/230-150.php
https://www.cps-parts.com/catalog/pnpages/230-150.php
https://www.cps-parts.com/catalog/pnpages/850-491.php
https://www.cps-parts.com/catalog/pnpages/956-204.php
https://www.cps-parts.com/catalog/pnpages/825-016.php
https://www.cps-parts.com/catalog/pnpages/241-408.php
https://www.cps-parts.com/catalog/pnpages/853-725.php
https://www.cps-parts.com/catalog/pnpages/853-725.php
https://www.cps-parts.com/catalog/pnpages/241-261.php
https://www.cps-parts.com/catalog/pnpages/827-961.php
https://www.cps-parts.com/catalog/pnpages/656-850.php
https://www.cps-parts.com/catalog/pnpages/656-850.php
https://www.cps-parts.com/catalog/pnpages/830-372.php
https://www.cps-parts.com/catalog/pnpages/888-821.php
https://www.cps-parts.com/catalog/pnpages/888-821.php
https://www.cps-parts.com/catalog/pnpages/230-150.php
https://www.cps-parts.com/catalog/pnpages/230-150.php
https://www.cps-parts.com/catalog/pnpages/940-874.php
https://www.cps-parts.com/catalog/pnpages/956-314.php
https://www.cps-parts.com/catalog/pnpages/940-873.php
https://www.cps-parts.com/catalog/pnpages/837-295.php
https://www.cps-parts.com/catalog/pnpages/240-234.php
https://www.cps-parts.com/catalog/pnpages/856-330.php
https://www.cps-parts.com/catalog/pnpages/956-651.php
https://www.cps-parts.com/catalog/pnpages/956-651.php
https://www.cps-parts.com/catalog/pnpages/838-125.php
https://www.cps-parts.com/catalog/pnpages/950-410.php
https://www.cps-parts.com/catalog/pnpages/430-622.php
https://www.cps-parts.com/catalog/pnpages/230-150.php
https://www.cps-parts.com/catalog/pnpages/230-150.php
https://www.cps-parts.com/catalog/pnpages/230-150.php
https://www.cps-parts.com/catalog/pnpages/250-460.php
https://www.cps-parts.com/catalog/pnpages/430-622.php
https://www.cps-parts.com/catalog/pnpages/430-622.php
https://www.cps-parts.com/catalog/pnpages/246-580.php
https://www.cps-parts.com/catalog/pnpages/942-020.php
https://www.cps-parts.com/catalog/pnpages/942-020.php
https://www.cps-parts.com/catalog/pnpages/942-020.php
https://www.cps-parts.com/catalog/pnpages/911-713.php
https://www.cps-parts.com/catalog/pnpages/640-850.php
https://www.cps-parts.com/catalog/pnpages/241-841.php
https://www.cps-parts.com/catalog/pnpages/851-111.php
https://www.cps-parts.com/catalog/pnpages/851-111.php
https://www.cps-parts.com/catalog/pnpages/811-460.php
https://www.cps-parts.com/catalog/pnpages/232-731.php
https://www.cps-parts.com/catalog/pnpages/241-841.php
https://www.cps-parts.com/catalog/pnpages/430-102.php
https://www.cps-parts.com/catalog/pnpages/250-460.php
https://www.cps-parts.com/catalog/pnpages/830-372.php

